

$s = 'a a b'$

$p = 'c * a * b *'$

$dp[i][j] = (1) \Rightarrow \{$

$\text{if } (p[j-1] == '*' ) \{$

$\text{return } (s[i-1] == p[j-2] ||$   
 $p[j-2] == '.') \&\&$

$dp[i-1][j] ||$

$dp[i][j-2];$

$\}$

$\text{return } s[i-1] == p[i-1] ||$

$p[i-1] == '.';$

$\}$

$dp[0][0] = \text{true};$

$dp[0][j] = p[j-1] == '*' \&\& dp[0][j-2];$

$dp[i][0] = \text{false}$

almost there, but since we defined  $dp[i][j]$

as string with length  $i, j$  not index, we have to

take extra care of that!

```
const fn = (s, p) => {
```

```
  const m = s.length;
```

```
  const n = p.length;
```

```
  const dp = [... new Array(m)].map(u => m+1  
    new Array(n).fill(false)); n+1
```

```
  dp[0][0] = true;
```

```
  for (let j = 10; j < n; j++) {
```

```
    dp[0][j] = p[j-1] === '*' && dp[0][j-2];
```

```
  }
```

```
  for (let i = i <= m0; i < m; i++) {
```

```
    for (let j = j <= n0; j < n; j++) {
```

```
      dp[i][j] = (i) => {
```

```
        if (p[j-1] === '*') {
```

```
          return (s[i-1] === p[j-2] ||
```

```
            p[j-2] === '.') && dp[i-1][j]
```

```
            || dp[i][j-2];
```

```
        }
```

```
return (s[i-1] == z == p[j-1] ||  
        p[j-1] == z == '.') &&  
        dp[i-1][j-1];
```

```
    })();
```

```
}
```

```
}
```

```
return dp[m][n];
```

```
}
```